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Instructions

There are 50 Multupie Chows Questions (MO0 in this paper Esch glestion trrisy
I mark. There will be negative markang of 025 per wrong answer.
Answer shoild be dackencd fmarked 10 the OMR answer shees only

Use of any electronic gadget jeg. caleulolor, mobile phone, etc.] is not permitted, in the
exmmination hall,

-In case o candiduie has oot signed the Atendance Sheet or the OMR Answer Shoct in not

sgmed by the inaglator, it will be deall with ns & cnse of unlaie means,

Cn completion of the fest, the candidates MUST HAND OVER THE OMR ANSWER SHEET
AND QUESTION PAPER TO THE INVIGILATOR In the rooam / hall

The condidates ahould sndure that the OMRE answer sliesl s sot fobded or domaged.

To be filled by the candidate ]

Name af the Candidate:
Hall HMumber:

OMR Number,

Mo of printed pages -8
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2015-0pen Candidates: PGT [Mathematica) - QP

1 Equivaient matrices pre obtiined by

#h 1=king inverse (b} taking transpioses
¢} taking adjolnts {d) taking finie number of dementary
IransformaLions

2 Inahomogenous system p{A) < the nmbee of unknowns then the svstem has:

Ly only iriviwl solutboe {b) trvial salubion and nfinitcly many solutkons
(&) vty moatrivial sodutions {ulp e ol uithonny
03 I.d—- o il —-lteun:lmaumluhﬂ-t# -4 —b-—t Ir|—‘l‘-3 i-*| 4 nnd
- w
I = 5 ﬂm:—n—c--r—r—!-n- g
u i W
{uy 25 by —25
fey 5 idy 3
G4 The equution of the magent io the curve ¥ = 2% w1 (1,1)
{ahx = Uy +50 =0 ) Ix—y-2=0
hx+Iy==4=10 (dix+2y—=7=10

Q5 WE =a+ib, ¥ =—a+ib thenZ, — I, Heson:
|} real axis k) imagmary axis
(€ the line y = x [d}the line y = —x

Q6 A matrix of order 3 X 3 hos eterminant, The value of [34]
la) 36 by 12
{e) 108 id) 432

0.7 Which of the following statement is incorrect?
() Enktind vebocry means velocity ot ¢ = 0
|b) Indtial accelerution meens accelerntion ot & = 0
{eh I ihe motion is upward, ot the same maxionem height, the velocity is not zero.
(d) Tf the mekion is horizontal v = 0 when the parficle comes 1o rest.

Q8 The value of Jr:a-'in": dr

i [

{a) 5 [11] 7
an

(e <

prowvided hes= i only for r=lereEnce, Tt may vary the Orioinal
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4
Ellr:=Ih by yiax—xgdy=0
&£
€ 5F=0 i) vz + g dp =10
g eyt
QI Iy = sin ‘{:h:‘:: i o= mine then (s a homogenous function of degree
T bl 1
fc) 2 () 4
Q.11 The curve ay? =27 (Ja— ¥} cuts the y = axis at;
(8 z==3a, x=0, iz =0x=3a
r=0z=a (dye=0
Q12 Which of the following curve is concave down?
fay = =x? i}y = x*
fely = et My=x'+2x=3
(213 T.P:ulm;mqfﬂnsmlm}wmuihmhnt’mmhnruhsuflh:diips:a
b 5 =1 ure;
{a) 26, 12 (b} 13, 24
(e} 12, 24 (d) 13, 12
(L14 The function f{x) = x¥ — Sx + 4 is increasing in:
) (=os,1) (b [1.4)
(e} (4, o) i) everywhere
QLS A particular integral of (07 = 40 + 4)y = o™ is:
{a) ‘I—l U b} xe®
(6} xe 3 (dy 5 e
Qb 152 cands are drawn from a well shuffled puck of 52 cards, the probability that ihey are of
e smme codour is: F
[ B4
) o) =
(© 5 ) o
The Information provided her= iz» only far relfer=noe. 1t oay vary thes Original
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If x s normally distnboted with mesn 6 epd standacd devigtion 5 and 2 = the
cowresponding normal varke The p(0 < £ < 8}

fup P{—1.2 < &= D4} (b P[-012 <= 4)

fe) Pl=12 <z < 04) (d) P{-012 <2< 04)

(1+a@)"+ (1-673)"

() 291 cru'? by M :r'n','—b
[ey 23 .rns!,! iy 23 stn?

IFA=[2 @ 1) thenrank of 447 :
i) (k) 2
fey 3 i o

The value of ‘¢’ on Ralle"s Thearem for the function f{x) = cos imqm:irﬂ

ta) O (h} Zr
n "
gl ) {dy 5

'Fr:ru;lvmnr:t. i ®{dxTp+] = {ixf}+§x{&xi} Iz

(a) 2 i 7
{c) 2K (dy 28

An nsymptots to the curve ¥ (0 + 2x) = 2 (e — 1) is
{a) x=3a (bl 1-—-E

€)= =% i x=0
In the =2t of real numbers R, an operstion « is defined by a « b = &% = B2, Then (he

valne of (34 4) = 5

) ik SZ
(] 25 id} 50
The twa positive tmbers whose product is 100 aned whase sum is minkmum:
{a) 20.5 (b} 10,10
(c) 4,25 (d} 2,30

yeicimd het= iz only far r=lfer=coe. 1t oay vary th= Original
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The Cartesian cquathon ol the plane pasing theough the points (2.2-1% (3420 and
(78] s

la) e 42y —32 =17 (b} Sx+iy—2z=17

(o) Zx+ Sy =3r =17 {dy =3x+5p+2z=17

Uhe centre and radies of the sphere (27 + (37— [+ 4E]| =4 :
(ab semtre=(3, %, 2) und radius=2 (k) conire<(= 3, ~2) and radius=2

(€) semre=(3,.2) wndradns=1 () contre( =, =, 2) and rudius=

If x=a sinpt mdr'—-kmp:.lhcnlbwllmnd':—:' att =101
B Ll
ol - L] —
s (]
(ed !‘Ii'l'.—_,
ITa, &, ¢ ase in ALY then the determinant
x+2 x+3 x+4la
x+3 £+49 x+2h| ba:
X+4 x+5 r+2c

fah 1 (b) 0
{ch r {d) 2x

The direction cosmes of u line which nakes equal angles with e coordinate wees ane;

(a1 (0,5, 5) (b} (1,0,1)
L e | =1 =1 = =% i =7
e lﬁ.ﬁpﬁl-] Wi

Let Ly and Ly be two pasallel lines with equation £ = d, + A8 and
= d; + AB respectively. The shoriest distance between them is:

{a) e = I“"—'l".“i_‘lf| Byd= |F- 1a.|-i 5|
(©)d = liﬁiﬂt it Fﬂ'&lﬁﬂf

IFA sl B are two events such that PA) = 7, P(B) = 3 and P(AU B) =  then A and 8
o

(n} not independent events b muruelly exclugive eernts

€} thelependent events {d} complementry events

The Informati o provided hetr= i» only far relfer=noe. 1t oay vary thes Original
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_E‘:sLn’xdx i

] . -
tap 3 LR
[e) m (dp i

Tt ares umder the given curve and given Imes:
y=x' x=1, =5 md r—quis

(2} 2 og wmity i) = sq.units
(€] T 5. HmiLs [} ]—E-*-Ju units

The total length of the curve  x27 2390 = 24

[E. VI 1 (b} 4a
(&) Bar {d} o
et £ = tan”*(222) gnd ghx) = tan~H{- S0y

ILI (x) + glx) )iz =

ny xl wl

laj r ‘+r 1h]1'r-r-T+r
-rl )

() mx 4+ —Fe () me s Ege

Let a refnsion B on the Set A of real numbers be defined s
[ableR==1+ab>0 fiwall a,b €A. TheRelztlon R is:

ia) Reflexive {b) Symmetric

(&) tranitive (d) Reflexive and Symutetric

A Paallelepiped is fonned by planes deawn purallel 1o co-ordinnte axes through the poind
A={1,2 3 bond Be={®, &, 5), The volume of porallelepiped ks equal b (in cubdic wnits)

) 193 (b} 48

e} 32 id) 96

There are n jocks and n matching kevs: 10 a0l the bscks and ke are to be perloctly
matehed. then maximum number of trizls 15 equal 1o

(a) "Gy (1} Rt
© "' G (dy nt
L]
The Information provided hetr= i» only far relfer=noe. 1t oay vary ths Original
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Thie mumbicr of termes i (0, + 8, + uy +ug o

la) B4 (k) H1
leh 30 {d) 20

. R PN Y]

ST
(a) min+1) () Mt
wim+1 iy ?

I [ s an Inereasing function and g @ & decreasing function such tha UMy exia,
then

{a) @(f (%)) is an increasing Mmction

b} glf{x}) is an decrsnsing Mnction

{e} g (=)} is an constaat funstion

{d) nesthing can be said

B and £ are fised points having co-ordinates (3,01 and (=3,0) respectively. 10 the
vertieal angle BAC is 90°. then the lacus of the centrold of the AABC has the equation:
farxt+¥y=1 mMxt+y =z
€)9(=* +y%) =1 (d} Hx* +y%) =4

A vertical fower stands on o declivity which i inclined st 15% 1o the horizon from the
fisoq of the tovovier & mon asecnds the declivity for 10 feet, And then finds that the tower
dtabtenats mn angle of 20 The height of the fower in Teet:

fa} 80 {bp 150
fe} BT () 40048 —+T)

Wa and fF aze the roots of the equation x® + % + 1 =0 then o7 & §7 s egqual lo:
(a) 2 ([}
fei—1 [dy -2

The sum of il nmtural numiers lying between 100 and 1000 which gre mitiples of 5
{0} BHARD (b 179
(o) B450 {dy 945

KOTE: The [nforsat lan provided heprs (e anly for referenes, T2 may vary Eha ODelginal
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1246 The sum of the product of the comesponding terms of the sequence 2, 4,8, 16,32 and
128, 32, 8, 2, 1

[ETR 2 1 (b1 26
1ch 649 idy 70

Q47 The pabods (a,0), { 0,0, and (1, 1) wre collivear i i + i =

fmy 2 b1 i
leh 1 ) 0

QA8 Quidy w0y 2 in AP and o, + g % iy oty o+l + @y =300 the sum of st
24 terms of the AP,
{a) LBOD ib) 1200
(e} GiD () H00

49 The equation of the curve passing trough paing {H.Ej whose differentil euuation is
sl cof ydy + cos xainy dy =
(n) sinxcosy =7 (b siny siny= ¢
{E) tosxcopy =2 (d) secx secy =+E

03 A perpendicular distance of & comer oF & unit cube from a disponal not passing through it

3
() Jz lﬁJ‘E
(4] = ] Jé

L s s ]
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-OPEN ADVERTISEMENT CANDIDATE EXAM-2015
PGT (MATHEMATICS)

AMSWERS KEY
1.0
2.8
L 26.8
4B 2T A
5 A 28.8
6 C 28.C
T.€ 30.A
BD Mn.c
08 28
10 nc
n.o M.C
12 A 35. B
138 ¥ 36 0
146 7.0
18, A BC
B 3|0
17.c 0.8
8.4 41.8
19 A 42 D
20.B 430
3B 45 A
218 46 B
24.8 4r.c
26 A 48.B
49 A
50.8B
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